SUMPOIRIESNIVTOT S A
—MALEEAY AT TR EHEERE
RRETREXAMET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

SuMPO EPD
EPD 547 NBHEE (EPD)

E85EFS ¢ JR-AI-25271E

VERIFIED

FUJHILM

Value from Innovation

BIO/MIL EJRX 4/R=-YaVHRE"
FUJIFILM Business Innovation Corp.

A3 HS—EEGH (BEHK)

Remanufactured Product

A3 Color Multifunction Printer

ApeosPort-VII C3373 R (for TW)

Apeos. Apeos 00, ApeosPro. ApeosPort . B&U ApeosPrint (&, ELIMILAEIRZAA IN—S KRS OB HREIEFAEIZETT,
Xerox. Xerox OJ. BLUFuji Xerox 0T KECOVI A OB IREIEE(EFEIETT,

HEHNL ERES JR-AI-25271E
P EFAPCRES  pPA-590000-Al-08
PCR#% [CIE N PAL: 21
HE X SRR NEGS! 2026518168
5387 O] eh R Bt RIEEHEE 20254118258
OREMEERE QEE Q@B OfEF - REEA VAT LERAEA
®FEE- Y1 RAES 2025-FB-EL-070

BEEE#hHEAR  2030% 118248

RNmOBR, FELER-FET PCRLEI-DETE

koY : ApeosPort-VII C3373 R

FEMARR N5-EEH EPAR)

ENRIEEEE : £/%70 35ppm (A4 LEF)
#15- 35ppm (A4 LEF)

BAABEYIX 1 SRA3(320x450 mm).

12x18"(305x457 mm). A3
FUY/AC-/AFVY
T EN R BE/ADF(R TS B Bh5tiA &)

RLWEhtE %
EEMAX AR EHFSUV6THIE
https://www.fujifilm.com/fb/

REHZ 20235 98 1H
ZER W5 82
(PR —HEAEEIE A AT T IR B )
B=HIRLE fBEETF
SN ERIRFEE
ISO14025( >z ARE & R UT -5 DIRIL LIAREE
O ER WA ED

*YAT LR ER I EEERNORIEDIZ AL, VAT LRAZIT>LEEED
ZEECHE,

SXTAMIVLESRZA I R—> 3 ket

FixES © JR-AI-25271E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SuMPO EPD SUMPOIREININTOI S L

E _ —RALEEAY AT H IR EHEE
. 14T NBEEE (EPD) HAHT KA AHE1-14-8

VERIFIED KANDA SQUARE GATE
EiES JR-AI-25271E https://ecoleaf-label jp

PP Z ST

FREESE | WERE | RS ﬁ’?ﬁ'ﬁffﬁ BB
SURZEE) - &5 kg-COzeq 3.74E+02 2.79E+01 4.48E+01 1.26E+02 1.54E+02
IV BHIE kg-CFC-11eq |  4.53E-05 4.52E-08 2.63E-08 3.91E-06 3.35E-08
EREL kg-PO.3-eq 1.13E-02 1.18E-03 1.87E-04 5.45E-03 1.84E-04
AL kg-SO:zeq 1.04E+00 1.81E-01 6.40E-02 5.91E-01 1.66E-01
HALRZAFIIVE kg-CzHaeq 1.03E-02 4.32E-05 4.32E-04 1.11E-03 1.30E-03
FEMEIRES - L4 kg-Sbeq 4.45E-01 9.96E-05 1.35E-05 4.53E-02 3.23E-05

179171 IRY IS REEER

—REROEMICEAT I

FREESE | WERE | oBSE ﬁ’?ﬁ'ﬁffﬁ BB
BEARE—XRER - IRIF- (RPRy) M) 7.74E+02 2.28E+02 9.73E+00 6.45E+02 7.26E+01
BEARE—RER - IRLF-2EME (RPRy) M) 148E+01 3.84E-03 2.52E+02 6.50E+02 1.37E-02
FEFLERE—RETR - TRILF— (NRPRp) M) 5.96E+03 9.41E+02 5.19E+02 3.06E+03 8.47E+02
FBEAE—REE - TRLE-SBHE (NRPRy,) M) 1.07E+03 2.90E-01 2.83E+00 2.56E+02 1.78E-01
HRIKDHEEE m? 2.88E+00 2.48E-02 2.65E+01 6.86E+01 1.30E-02

HEREICET 2:EMNIER
-BEEERATRELTEELELE,
EEMEPHR)DIZEEYFUATEELTVET,
S G OB E AR5 ER T,
fER - MBS CH I ZENRI AR AR EEENE A,
ERABOEAIE. IRNF-R5-T0JTLVer3 28 #(CR->THELETECIEZTICEE LELE,
EEENRIARERIL, 182,4001TF,
1/4 x 32 (¥aJ/B) x 19 (1) x 5 (B) x 4 (B) x 12 (7 B) x 5 (&) = 182,400%%
AHRERFTROERAFAHRNSENLBREBAALTEY.. EMHAEZERBCSVWVEEBROETEERLTEELTVET,

2D OIRIERIEIEER

MRBSUMECET 2R S ﬁE%EkEﬁﬂ%i‘*iﬁ

E-9E (ERFHS) Hifp CAS No.
i 63 kg - -
sus 1.2 kg - - -
FIVIZUL 0.85 kg
ZOtERE 10 kg ERALEZRT-90EXS
F3AFY 43 kg FREAIE, LCIT-Y-2AIDEA Ver.3.4, SUMPOREEININTOTS L EHZT -
di 0.20 kg Ver1.16&fEALTVET,
A5 1.8 kg
- AR 9.6 kg e
FEE FRENR 40 kg -
ZHER G 6.4 kg
kol 5.9 kg

@7 -FEEN %L, PCRELUVEE - EERRESRLESIN,
OLLRIIOVNTUL EE - EERBCHEINLEAFERELEGEICLARHONEE A,
(BBB4EURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

